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Questions

The spring tide occurs when the moon, the sun and the earth make in angle of

The solar eclipse occurs when

Lines joining paces receiving equal amount of rainfall are called:

What is great Barrier Reef?

Which one of the following food grains is grown in China in the largest quantity?

In which of the following countries the Christmas festival is celebrated in summer season?

The original inhabitants of New Zealand are known as---

Which of the following is the chief crop of Australia?

Which part of Australia receives rain throughout the year?

What is the chief export from New Zealand?

Answers Choice

A. 180<sup>o</sup>
B. 90<sup>o</sup>
C. 45<sup>o</sup>
D. 33<sup>o</sup>

A. The sun comes in between the
moon and the earth

B. The earth comes in between the
sum and the moon

C. The moon comes in between the
sun and the earth

D. The moon, the sun and the earth
are in a straight line

A. Isohalines
B. Isobars
C. Isotherms
D. Isohyets

A. A belt of Coral along the east
coasts of Australia

B. A cave between Sydney and
Malbourne

C. Afish found Area in the sea near
New Zealand

D. A mine situated in the great
Victoria Valley

Rye
Barley
Rice
Maize

New Zealand
Germany
Japan
Britain

Maoris
Bedouins
Magyars
Tartars

Rice
Maize
Wheat
Potato

. Western part
Eastern part

. Southern part
. Northem part
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B. Oil
C. Motor Car
D. Cigarette



